Homophones

Q. Rewrite the sentence with the correct word from the options to complete the
meaning of the sentence.

a. The inspection of (they’re, their, there) building is complete.

b. (they’re, their, there) is a huge demand for employment.

c. Scientists believe (they’re, their, there) are many unidentified species.

d. The reliability of (they’re, their, there) facts depend on their research.

e. Hospital state (they’re, their, there) not short of staff.

f. (they’re, their, there) will be more expenditure on transportation.

g. (they’re, their, there) getting late for the concert.
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